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QUESTION 1

Which two accounts are mandatory prerequisites for the successful deployment of a VMware Cloud on AWS solution?
(Choose two.)

A. A VMware vCenter Server account

B. An AWS account

C. A VMware Cloud account

D. An Amazon Elastic Compute Cloud (EC2) account
E. A VMware Cloud on AWS account

Correct Answer: AE

QUESTION 2

An environment is running a cluster with six i3.metal hosts in the VMware Cloud on AWS software-defined data center
(SDDC). If one host fails, what happens after a new host is automatically added to the cluster?

A. The SDDC and NVMe drives backing VMware vSAN capacity are unmounted from the failed host and attached to the
new host. There is no VMware vSAN rebuild required.

B. The VMware vSAN rebuild starts in the background. Performance might be degraded during rebuild and the failures
to tolerate (FTT) is lowered to O.

C. The VMware vSAN rebuild starts in the background. Performance might be degraded during rebuild and the failures
to tolerate (FTT) is lowered to 1.

D. A notification is received from VMware Support to start the VMware vSAN rebuild. Performance might be degraded
during rebuild.

Correct Answer: C

QUESTION 3

An administrator is looking to establish a hybrid connection between on-premises and VMware Cloud on AWS software-
defined data center (SDDC) environments in order to migrate virtual machines. The on-premises environment is NOT
using NSX today; however, the administrator wants to avoid having to change IP addresses after each migration, and
there are some applications that require the same broadcast domain. Which connection is needed to meet these
requirements?

A. Policy-based VPN

B. Layer 2 VPN (L2VPN)

C. AWS Direct Connect

D. Route-based VPN
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Correct Answer: D

QUESTION 4

Refer to the exhibit.
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An administrator completes an assessment of its local data center for potential migration into VMware Cloud on AWS.
After reviewing and analyzing the data and taking into account the company\\'s business and IT priorities and budget
constraints, connectivity between its on-premises and VMware Cloud on AWS environment will NOT require any high
speed low latency connections. All new networks should be added to the software-defined data center (SDDC) routing
table automatically when created. Which connection supports these requirements?

A. Layer 2 VPN (L2VPN)

B. AWS Direct Connect

C. Route-based VPN

D. Policy-based VPN

Correct Answer: D

QUESTION 5
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An administrator runs an analysis on all workloads using Live Optics and confirms there are a variety of applications,
including Microsoft SQL server and Oracle databases. The Microsoft SQL workloads are averaging 4,000 IOPS per
virtual machine, approximately 50% writes. The Oracle workloads are averaging 3,000 IOPS per virtual machine, and
approximately 80% writes. Which method should be used to input the data into the VMware Cloud on AWS Sizer for the
most accurate results?

A. Use the Advanced Sizer in \\'database\\' mode. Create workload profiles for the analyzed virtual machines, including
profiles for Microsoft SQL and Oracle. Set the values for vCPU, VRAM, utilized storage, IOPS and /O profile manually.

B. Use the Quick Sizer. Set the values for vCPU, VRAM, utilized storage, IOPS and I/O profile manually.

C. Use the Advanced Sizer in \'import\\' mode. Import the Live Optics data and let the Advanced Sizer set the values for
vCPU, VRAM, utilized storage, IOPS and I/O automatically.

D. Use the Advanced Sizer in \'manual\\' mode. Create workload profiles for the analyzed virtual machines, including
profiles for Microsoft SQL and Oracle. Use the default values for the SQL and Oracle workload profiles.

Correct Answer: D

S5V0-11.21 PDF Dumps 5V0-11.21 VCE Dumps 5V0-11.21 Practice Test

5V0-11.21 PDF Dumps | 5V0-11.21 VCE Dumps | 5V0-11.21 Practice Test 4/4


https://www.passapply.com/5v0-11-21.html
https://www.passapply.com/5v0-11-21.html
https://www.passapply.com/5v0-11-21.html
http://www.tcpdf.org
https://www.passapply.com/5v0-11-21.html
https://www.passapply.com/5v0-11-21.html
https://www.passapply.com/5v0-11-21.html

